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LEVELTEST ANSWER KEY
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1MACBETH

1	 In Scotland.
2	 Three.
3	 No, he isn’t.
4	 Scotland and Norway.
5	 He killed lots of  men.
6	 Because he is a traitor.

1, 2, 4 and 8

1  c    2  c    3  b    4  b    5  a    6  a

1	 to the castle
2	 my house
3	 your father is
4	 murder me
5	 was Malcolm!
6	 going

1	 witches
2	 future
3	 kings
4	 murdered
5	 crown
6	 kill

1  e    2  d    3  a    4  f     5  c    6  b

1  b    2  d    3  c    4  a
5  d    6  b    7  c    8  b

1	 ’s
2	 is   
3	 murdered
4	 can’t
5	 have
6	 doesn’t have
7	 don’t love
8	 can

1	 yes
2	 no
3	 yes
4	 no

1	 blood
2	 dagger
3	 wood
4	 trust
5	 traitor
6	 real
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